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1802
B.Com. (First Year) Examination, 2018

ACCOUNTANCY AND STATISTICS
Paper-1
(Financial Accounting)

Time : Three Hours
Maximum Marks : 100

PART - A (@Us-31) [Marks : 20
Answer all questions (50 words each),
All questions carry equal marks.
Wt 5 ¥ B 1 9o g SR T e @ S A A
At wv il % 37w guE ¥

PART - B (@us-w) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks,

ToIF T | UH-Ueh Yo T §U, F U 99 S |

eI WY 1 I 250 VIRl ¥ 3w T 9
Tt 99 F o7 wuE F
PART - C (@vE-1) [Marks : 30

Answer any /wo questions (300 words cach).
All questions carry equal marks.
I S G FIAC I TF FT FIW 300 V1§ Siferm 7 8
It v F 3w gom ¥
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PART - A
(@Ug-31)
UNIT - 1

(3&T§-1)

1. (i)  On which concept accounting equationis based. State

the equation.
G FH R SR W neia &2 T fafad
(ii) State the exception in posting from three column cash
book.
91 = T3 T8 | WA 1 AYER TadEy |
UNIT - 11
(g&E-11)
(iii ) State three objectives of providing for depreciation.
oGl YaYFA F @1 3899 a0erey |
(iv) How abnormal loss is treated in éo:asignment accounts?
Jqu @Il W STEI BT 1 1 SHFE gl &7
UNIT - LI
(F&T3-111)
(v ) State the formula to determine insurable value under
loss of profit policy.
o 1 affq aieiret # sifaa ofn Fufo 0 g3 fafEd
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(vi) State any two major differences between receipt and
payment a/c and income and expenditure a/c.
W ST @I Td HE-2F GH § 9 Q) v s
AR |
UNIT - IV
(F&TE-1V)
(vii ) Define shortworkings.
e TR 1w SR
( viii ) What is unrealised profit in departmental accounting ?
fawrita crais= & ‘3 age gu e’ F §2
UNIT -V
(3=hT3-V)
(ix) Give journal entry for following :
Mr. N and Mr. P are equal partners. They admit Mr.
V as partner for ¢ share and for which he brings
15,000 for goodwill. New profit sharing ratio will be
6 : 4 : 2 respectively.
T a9 1 S & TEeR §13 s A L wym ¥ g
v 33 € S efa F fAu o e F T 15,000 @
&1 T AH-FI STuE AW 6 : 4 : 2 €M S
wfafe difsm)
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(x) Whatis rule of Gargen v/s murray ?

2. (a)

(®)

(a)
(b)
(c)

R T ¢ F fram w7 d2
PART - B
(TUe-v)
UNIT - I

(3&Té-1)

Develop an accounting equation taking fire imaginary

transactions. http://www. mlsuonline.com
T4 FIeTH A7 AR TF NG TR G
Explain the convention of conservatism.
wiganfear st Tomu = Ty |

OR ( 31gar)

Write short notes on any two :

Suspense account
Rectification, adjustment and closing entries

Accounting standards setting process

fodt @ W dfara fewfimy fafgd -
(H) I==it @
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(F) [uRTES THEN & Afay wfafeg Aditya sent the goods costing ¥ 25,000 at an invoice price of

() S = T 30000. He spent ¥ 400 on packing and loading. On receiving
UNIT - T1 the goods, Bhushan accepted Aditya's draft for ¥ 15000 and
(T&HTE-11) paid the following expenses :

Freight T 1,800; godown rent 500; insurance godown 200; Mis.
4. Explain the following in brief : reigh EOCOWRT sy &

) o o exps. 200.
(a) Causes and objectives of depreciation 4 .
He sold — of goods for ¥ 38,000 and could not realised I600.
(b)  Self balancing ledgers 5

frt =) wd9 4 WeTEd Give necessary ledger accounts in books of Aditya and
Bhushan.

FOWT % onfeed A iEare & o F 4N W A 38 v W
a9 ff yoo anfem & A W AW F=Am 9o foea e W
20% HHYA U FOT | O 3943 50 fF5a T w9 A
=@l F @Y g5 FON W IW iearg a% 7w g
T IS SR HHVE H 3A et & Wt wits qum
S |

(1) ToHEH & F10 Ud 329
() =7 Tgfera am afeg
OR ( 319ar)
5.  Aditya of Ajmer sent a consignment of goods to Bhushan of
Bhilwara on the basis that Bhushan was to effect sales on
behalf of Aditya and to receive a commission of 20% on selling

price. Bhushan will be responsible for all indirect expenses at

anfesd ¥ 25,000 T @A Jed 1 HIA 30,000 T & dw oA
T 9 IR 400 T e 9w we W oy fen i yww A w1
a FIA YT 3Afeed 1 15000 T w0 fafma 13 wien fear qu
et =l & s fan e

his end, but the goods were to be forwarded F.O.R. Bhilwara.
The commission was considered to include delcredre

commission also.
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& vTEl 1800, TiIeT fertrn 500, AT Tiem 200 a1 fafay =g
200

I 5 I 38,000 X | Fn o § 600 T ww TET € W
STICET A1 YT ol [Edeh] A W S |

. UNIT - 11

(g@®E-111)
Explain the steps to determine claim under loss of profit
policy.
@ i aifd =t e § <d F: afn I w0 F whEw =
AT |

OR ( 3794r)
Alwar transport Ltd. purchased three trucks @ 8.00,000 each
on hire purchase system from Jodhpur motors Ltd. Down
payment of ¥ 6.00,000 was made. Balance was payable in
three equal annual instalments with 15% interest. Alwar
transport write off depreciation @ 20% on WDV basis.
Purchaser duly paid the first repossessed all trucks and afier
spending < 1,16,000 on repair these were sold for ¥ 15.00.000.

Give necessary accounts in books of botht he parties.

e ZiEdrd fa. A 919 2% 8,00,000 T wid 3% & S H UMW
ared fa. & feua w9 | #a ) 6,00000 T g O
ferm a1 9% g A9 wHE At vl 7 15% e & iy

TFEA & | AeEt TEE I W U §U 99 W 20 Hedwd
aTqfafEa e € | sl X 9o fRw &1 o e W =
faradl a1 T e foan s w1 faskan 3 ot zenl Rl e
=X fomn & 9o 30wa W 1,16,000 T 1 F F A8 3¢ 15,000 T
H a1 fomn 1 3 verrl # gEel  SevEe @ i |

UNIT - 1V

(3FTE-1V)
What are indirect expenses in departmental accounting.
Explain basis of their apportionment.
fasmig s § 9 99 T §? 6 TS & SHR
I8 Ff |

OR ( 3¥ar)
On 1.1.2010 Ram obtained a lease of land from Laxman
bearing coal on the terms that a royalty is payable @ 20 per

tonne of output and minimum rent is 10,000 p.a. with a right

1802/9900 8



1o recoup shortworkings over first four years of lease. From
(b) Rule of Garner v/s Murray

o m dfera femfoml fafag .
(#1) TFRERE F YAV W B w1 A HERN
(&) 7T "= w1 &

the following further details prepare royalty a/c, shortworking
a/c and Laxman a/c in boks of Ram.
1.1.2010 F! TH I &0 ¥ ST F1 @H 4 T W 9 T A

f& wfmr Yo 20 T wfd Sefed 27 1 | 4 23 &, FaH

feran 10,000 AU qen T M H1 9% F woH TR g6l | OR (3t
A H F ST 3| frey foeoti & T 1 TEE § TN 11. A, B and C are partners sharing profits in 2 : 2 : 1. The B/S
- of firm on 1.4.2013 was as under :
N P ————— M, A, W2 :2 : 1% ATIE A I Fied g HRHRR ®11.4.2013
H . +l %l 1 oz f= v @1
Year Sales in terms Closing Stock in tonnes g
010 230 S0 Liabilities Amount [ Assets Amount
S0l y " Creditors 65,000 |Cash at Bank 10,000
20 340 3
General reserve 15,000 | Debtors 70,000
2012 420 30
Capital a/c's : Stock 40,000
2013 640 40
A 40,000 Building 50,000
2014 700 ol
B 30,000
UNIT -3 C 20.000 90,000
( m‘\ J I-.?URM) ]1?U~{H}U

. Wrie sho les oHowings : . . - ) )
10. Write short notes on followings 'C' retires from firm on 1.5.2013 and it was decided as under:

: Treatment of goodwill on admission ot a partner . -
(@) goat P (i)  To reduce stock by 10%
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(i)  To increase building by 50%

(i) To provide for doubtful debts at 5%

(iv) To value goodwill of firm at 20,000 and adjust share of
'C' in capital a/c of 'A' and 'B' who decided to share
future profits equally.

(v) Share of 'C’ for current year period agreed at 2500.

(vi)  To pay 'C’, a bank loan was arranged for T 25,000 on
1.5.2013.

(vii) The amount payable to 'C' was fully paid on 1.5.2013.

Prepare revaluation a/c and capital accounts of partners.

152013 ¥ 'R’ i § sk 7w Far €1 39 fea fe Fofa

fom ma

(i) EIF S AR 10% A9 fma 9|

(i) a9 1 g4 50% | Fg™1 S|

(i) SRR W 5% HI W/ Hierw 7o & fan s s
gt

(iv) wH =t Tfa 20,000 T R Yifea Ht g R 399 ‘g’
F fe@ 9 ' a1’ ok ‘' F Yot @ H wErifaa &= fam
wme, < wfas | ey we g ser |t % fvea F@
g1

1802/9900 11 FTO.

(v) =g ad ¥ fae ' ®w' &1 @y @ fes 2500 T WER @
feran )

(vi) ‘® ® g9 & g 152013 @1 25,000 T F dF A
Y ST I T |

| (vii) ‘&’ =i 27 Ty 1 qof orEm 1.5.2013 R W e

12.

13.

L]

AT G T 9EeR & Usi @ a gl
PART - C
(@us-H)
UNIT - I

(3FT3-1)

Is agreement of trial balance is a conclusive proof of accuracy
of books ? If not, why it is 50, explain.
T A9 1 O O Tl S e Y[ 1 TE 87
gfe &1, a i TaEnEd |

UNIT - 1l

(FwTE-11)

Bachan and Charan enter into a joint venture to develop a
film for government. The government agrees to pay I
1,00,000. Bachan contributes ¥ 10,000 and Charan contributes

T 15,000. These amounts are paid into a joint bank a/c

payments made out of joint bank a/c were :

1802/9900 12



991 Td 9 W@ER & fou o ey 99 g 9% wew W
I €1 WER A 1,00,000 T 2 99 fFa w=1 X 10,000 2
de 9= A 15,000 T R | 39 0N A Wgw I @n F T
fean a1 | Hgw d % @ | e e A

Purchase of Equipments 6,000
Wages 45,000
Materials _ 10,000
Hire of equipments 5,000
Office expenses 5,000

Bachan paid X 2,000 as licensing fees. On completion, the
film was found defective and government made deduction of
T 10,000. The equipments was taken over by Charan at a
valuation of ¥ 2000. Separate were maintained for joint
venture, whose profits were divided in the ratio of Bachan 2/5

and Charan 3/5. Give necessary ledger accounts.

a= A 2000 ¥ E3HE W & g w1 qul €9 1w frew
Sraqul Ui T qA TER A 10,000 T H HIAAT F | gFATHR
! =91 A 2,000 T & qeg W foran | 99w wew &g oem gwe
TE T qU Y H /S (F=1) T 3/5 (FH) F I § &r
T4 | IETEE @I G |

1802/9900 13 PTO.

UNIT - 111
(¥aré-111 )

14. From the information given below determine, the claim under

consequential loss policy :
=1 g @ oftomdt wift st oieddt & oraia < =5t ofn
Fruffta sife

Indemnity period | 6 months
Date of fire 31.5.2014
Dislocation upto 30.9.2014
Sum insured T 70,000
Sales for last accounting year 2,40,000
Net profit for last accounting year 20,000
Standing charges all insured 40,000
Sales for dislocation period 30,000
Sales for 12 months immediately 3,30,000

preceeding date of fire
Sales for corresponding period in the

preceeding year (31.5.2013 t0 30.9.2013) 1,10,000

1802/9900 14



15.

16.

The policy contains special circumstances clause, which
stipulates for increase in tumover (Standard and annual) by

10% for an upward trend in the sales,

et 3 fafye wfifeufral g & S 39 9@ & yHe T
¥ 5 fafie =1 (vwifam w@ afifs d) 10% #t gfs =@
i wgd g vafi ¥ Hro sl B

UNIT - IV

(¥=TE-1V )
Write notes on followings :
(a) Stock and debtors method in branch accounting
(b) Shortworkings and its recoupment treatment
fra w feufimt fafad
(31) e @i H RiF wE 3R fafy
(9) g U 1@ 36 T W =aer

UNIT-V

(=E-V)
X, Y and Z are partners sharing profits and losses in the ratio

of 5:3:20n31.3.2015 their B/S was as follows :

(T, a1 UF S WERR € W 5 : 3 : 2 ¥F Ium ¥ @
faurer #ea €131.3.2015 &1 391 Fagt sm waR ?)

1802/9900 15 PT.O.

T L4
Capital Accounts : Cash in hand 1,000
X 7,500 |[Sundry assets 31,000
Y 6,000
Z 1500
X's loan a/c 5,000
Y's loan a/c 2.000
Sundry creditors 8.000
Bank Loan 2.000
32.000 32,000

The firm was dissolved on 1.4.2015, The assets were realised
as follows :

1.4.2015 H1 FH F FEMA § TE B w wefad A g
= =R E} :

< 4

Apnl 30 6,250 Expenses 250
May 31 5.500 Expenses 400
June 30 12,500 Expenses 750
July 31 4,500 Expenses 250
Cash received was paid to the rightful claimants. Prepare a

statement showing distribution of cash applving Gamer v/s
Murray rule (Maximum loss method).
T TR W AT F PR e AT w e
BQ faarm g3 FARw MR W W) fem @ owEm Fifee
(etfuem wifa faftr)
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